SOLICITATION - OFFER - AWARD

CONTRACT NO: DATE ISSUED: SOLICITATION TITLE: SOLICITATION NO: 19-C00102/BK FRONTAGE ROAD MAY 1, 2019 19-C00102/BK **ADDITION AT SR 50 AND I-75** SUBMIT BID OFFER TO: ISSUED BY: HERNANDO COUNTY **BOARD OF COUNTY COMMISSIONERS PURCHASING AND CONTRACTS** HERNANDO COUNTY, FLORIDA 1653 BLAISE DRIVE Jeff Holcomb, Chairman BROOKSVILLE, FL 34601 John Mitten, Vice Chairman James S. Wunderle John Allocco, Second Vice Chairman Purchasing and Contracts Manager Wayne Dukes Chief Procurement Officer Steve Champion

SOLICITATION

SEALED OFFERS, IN TWO (2) ORIGINALS, FOR FURNISHING THE SERVICES, SUPPLIES OR EQUIPMENT DESCRIBED HEREIN WILL BE RECEIVED AT THE OFFICE OF PURCHASING AND CONTRACTS, 1653 BLAISE DRIVE, BROOKSVILLE, FL 34601, UNTIL 3:00 P.M., LOCAL TIME ON MAY 29, 2019. NO BID OFFERS WILL BE ACCEPTED AFTER THE ABOVE STIPULATED DATE AND TIME. THIS IS AN ADVERTISED SOLICITATION AND THE RESPONDING BIDDERS WILL BE PUBLICLY READ IN THE PURCHASING AND CONTRACTS CONFERENCE ROOM AT 3:00 P.M. ON MAY 29, 2019. PURSUANT TO FS 119.071 (current version), SEALED BIDS, PROPOSALS, OR REPLIES RECEIVED BY AN AGENCY PURSUANT TO A COMPETITIVE SOLICITATION ARE EXEMPT FROM FINAL INSPECTION UNTIL SUCH TIME AS THE AGENCY PROVIDES NOTICE OF AN INTENDED DECISION OR UNTIL THIRTY (30) DAYS AFTER OPENING THE BIDS, PROPOSALS, OR FINAL REPLIES, WHICHEVER IS EARLIER.

ITEM NO.	DESCRIPTION OF SERVICE/SUPPLIES/EQUIPMENT	QTY	UNIT	UNIT PRICE	TOTAL AMOUNT
1	The Vendor/Contractor will supply all materials, labor, and equipment in order to accomplish the FRONTAGE ROAD ADDITION AT SR 50 AND I-75, as described in the specifications and construction plans showing the proposed improvements in Hernando County, Florida. (SEE ATTACHED SPECIFICATIONS)	Х	xxxxx	xxxxxxxx	\$_2,064,687.76

OFFER

(TERMS, CONDITIONS AND SPECIFICATIONS ARE INCLUDED AS PARTS HEREOF)

IN COMPLIANCE WITH THE ABOVE, THE UNDERSIGNED, BEING DULY AUTHORIZED TO SIGN THIS BID FOR THE BIDDER, AGREES THAT IF THIS OFFER IS ACCEPTED WITHIN ONE HUNDRED TWENTY (120) DAYS FROM THE BID OPENING DATE, TO FURNISH TO HERNANDO COUNTY ANY AND ALL ITEMS FOR WHICH PRICES ARE OFFERED IN THIS BID SOLICITATION AT THE PRICE(S) SO OFFERED, DELIVERED AT DESIGNATED POINT(S), WITHIN THE TIME PERIOD SPECIFIED, AND AT THE TERMS AND CONDITIONS SO STIPULATED IN THE SOLICITATION FOR BIDS.

FOR BIDS.				
DISCOUNT FOR	PROMPT PAYMENT:	% 10 CALENDAR DAYS	% 20 CALENDAR DAYS% CALENDA	R DAYS
BIDDER'S INFORMATI	ION		NAME AND TITLE OF PERSON AUTHORIZED TO SIGN BID OFFER:	
Goodwin Bros Construction, Inc.			BIDDER'S SIGNATURE	OFFER DATE
PO Box 168	19			7
Brooksville	Florida	34605		6/12/2019
City 352-796-0149	State 352-544-1084	Zip Code estimator.goodwinbros@hughes.	net	
Phone Number	Fax Number	Email Address		

AWARD

(TO BE COMPLETED BY COUNTY)

		BY: Maureen S. Sikora
ACCEPTED AS TO ITEM(S) NO:	AMOUNT:	ACCOUNTING CODE:
Hernando County Department of Public Works 1525 E. Jefferson St. Brooksville, Fl. 34601	COUNTY:	Vice Chairman AWARD PATE: 71619

REVISED SECTION VII - BID FORM FOR

ITB NO. 19-C00102/BK FRONTAGE ROAD ADDITION AT SR 50 AND I-75

The Vendor/Contractor shall provide all labor and other resources necessary to provide the supplies, equipment and/or services in strict accordance with the specifications defined in this Solicitation for the amounts specified in this Bid Form, inclusive of overhead, profit and any other costs.

Vendor/Contractor is to understand that the total Bid price is based on the estimated quantities indicated as follows and will control in awarding the Contract as provided in the Solicitation Instructions. It is further understood that the quantities stated in the Bid Form for various items are estimated only and may be increased or decreased as provided in the Contract.

PART A: CRACKER CROSSING EXTENSION AND CONSTRUCTION OF SUNRISE BLVD.

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
GENER	AL CONDITIONS:			-L	
1	Mobilization, Bond, & Insurance	LS	1	\$24,981.00	\$24,981.00
2	Material Testing	LS	1	\$13,966.75	\$13,966.75
3	Survey Layout / As-builts	LS	1	\$48,098.75	\$48,098.75
4	NPDES Permit & Monitoring	LS	1	\$1,380.00	\$1,380.00
5	Erosion Control Installation & Maintenance	LS	1	\$2,300.00	\$2,300.00
6	Maintenance of Traffic	LS	1	\$10,690.00	\$10,690.00
SITE A	ND ROADWAY:				
7	Silt Fence	LF	5,300	\$1.10	\$5,830.00
8	Clearing & Grubbing	AC	12.00	\$3,439.00	\$41,268.00
9	Saw Cut Existing Pavement	LF	95.00	\$2.88	\$273.60
10	Unclassified Excavation Cut/Fill	B-CY	45,934		
10A	Earthwork Cut	BCY	45,922	\$1.95	\$89,547.90
10B	Earthwork Fill	BYC	42,337	\$1.95	\$82,557.15
10C	Borrow Soil	BCY	5,000	\$12.13	\$60,650.00
11	Finish Grading	SY	60,000	\$0.54	\$32,400.00
12	12" Stabilized Subgrade	SY	11,400	\$3.46	\$39,444.00
13	8" Limerock Base LBR 100	SY	9,500	\$14.20	\$134,900.00
14	2" Asphalt SP 9.5 Traffic Level C	SY	9,500	\$12.02	\$114,190.00
15	Type E Curbing	LF	1,325	\$13.23	\$17,529.75
16	Type F Curbing	LF	4,800	\$13.23	\$63,504.00
17	Valley Curbing	LF	95	\$28.75	\$2,731.25
18	5' Wide 6" Concrete Sidewalk	LF	3,000	\$31.63	\$94,890.00
19	Sod ROW, DRAs & TCEs	SY	39,746	\$2.65	\$105,326.90
20	Seed & Mulch DRA Bottom	SY	7,564	\$0.46	\$3,479.44

Goodwin Bros Construction, Inc.

Company Name

Authorized Signature

ITB NO. 19-C00102/BK FRONTAGE ROAD ADDITION AT SR 50 AND I-75

PART A: CRACKER CROSSING EXTENSION AND CONSTRUCTION OF SUNRISE BLVD. - Continued

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
21	Type D-3 Street Name Sign	EA	4	\$460.00	\$1,840.00
22	R1-1 30" x 30" Stop Sign	EA	3	\$287.50	\$862.50
23	R2-1 Speed Limit Sign 24" x 30"	EA	5	\$287.50	\$1,437.50
24	W11-2 Pedestrian Cross Sign	EA	3	\$316.25	\$948.75
25	OM1-1/OM4-1 Sign 18" x 18"	EA	10	\$143.75	\$1,437.50
26	R4-7 Keep Right Sign	EA	1	\$287.50	\$287.50
27	R6-1L/R6-1R "ONE WAY" Sign 36" x 12"	EA	10	\$287.50	\$2,875.00
28	R3-7R Right Lane Must Turn Right Sign	EA	1	\$287.50	\$287.50
29	W16-9P Ahead Plaque	EA	2	\$46.00	\$92.00
30	W16-7P Arrow Plaque	EA	1	\$46.00	\$46.00
31	W8-3 Pavement Ends Sign	EA	1	\$316.25	\$316.25
32	W16-2 500 FEET Plaque	EA	1	\$46.00	\$46.00
33	R6-3 "DIVIDED HIGHWAY" 36" x 24"	EA	1	\$299.00	\$299.00
34	Yellow Delineator Flex Posts	EA	1	\$86.25	\$86.25
35	Yellow/Yellow RPM	EA	40	\$4.60	\$184.00
36	White/Red RPM	EA	28	\$4.60	\$128.80
37	24" Thermoplastic Stop Bar	LF	40	\$6.90	\$276.00
38	Thermoplastic Striping 6" White Solid	LF	5,650	\$1.38	\$7,797.00
39	Thermoplastic Striping 6" Yellow Solid	LF	4,700	\$1.38	\$6,486.00
40	Thermoplastic Striping Wht 10' -30' Skip	LF	1,020	\$1.15	\$1,173.00
41	Yellow Painted Curbing	LF	190	\$2.30	\$437.00
42	Standard Crosswalk	LF	112	\$6.90	\$772.80
43	Special Emphasis Crosswalk	LF	86	\$17.25	\$1,483.50
44	Detectable Warning Device	EA	10	\$517.50	\$5,175.00
STORM	WATER SYSTEM:				
45	Type 5 Curb Inlet <10'	EA	17	\$4,038.70	\$68,657.90
46	Type 5 Curb Inlet >10'	EA	1	\$4,120.00	\$4,120.00
47	Type 6 Curb Inlet <10'	EA	4	\$4,113.84	\$16,455.36
48	Manhole P-8 <10'	EA	1	\$3,450.93	\$3,450.93
49	Manhole P-8 >10'	EA	2	\$3,450.93	\$6,901.86
50	Single 18" RCP Concrete MES 4:1 Slope	EA	6	\$934.25	\$5,605.50
51	Single 24" RCP Concrete MES 4:1 Slope	EA	1	\$1,136.58	\$1,136.58
52	Double 24" RCP Concrete MES 4:1 Slope	EA	2	\$1,835.85	\$3,671.70

Goodwin Bros Construction, Inc.

Company Name

Authorized Signature

ITB NO. 19-C00102/BK FRONTAGE ROAD ADDITION AT SR 50 AND I-75

PART A: CRACKER CROSSING EXTENSION AND CONSTRUCTION OF SUNRISE BLVD. - Continued

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
53	Rip Rap	TONS	28	\$143.59	\$4,020.52
54	Type C Inlet <10'	EA	2	\$3,930.23	\$7,860.46
55	18" RCP	LF	2,000	\$36.03	\$72,060.00
56	24" RCP	LF	730	\$50.83	\$37,105.90
57	14" x 23" ERCP	LF	120	\$64.24	\$7,708.80

TOTAL PART A: \$1,263,468.85

ITEM NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
GENER	AL CONDITIONS:		In a section of the s		
1	Mobilization, Bond, & Insurance	LS	1	\$18,783.00	\$18,783.00
2	Material Testing	LS	1	\$8,892.95	\$8,892.95
3	Survey Layout / As-builts	LS	1	\$29,698.75	\$29,698.75
4	NPDES Permit & Monitoring	LS	1	\$1,380.00	\$1,380.00
5	Erosion Control Installation & Maintenance	LS	1	\$1,150.00	\$1,150.00
6	Maintenance of Traffic	LS	1	\$10,690.00	\$10,690.00
SITE A	ND ROADWAY:				
7	Silt Fence	LF	2,450	\$1.10	\$2,695.00
8	Clearing & Grubbing	AC	2.00	\$16,961.00	\$33,922.00
9	Earthwork Cut	BCY	2,201	\$3.09	\$6,801.09
10	Earthwork Fill	BCY	6,599	\$1.98	\$13,066.02
11	Borrow Soil *	BCY	4,398	\$10.32	\$45,387.36
12	Finish Grading	SY	14,994	\$0.54	\$8,096.76
13	12" Stabilized Subgrade	SY	5,525	\$3.46	\$19,116.50
14	8" Limerock Base LBR 100	SY	4,600	\$14.20	\$65,320.00
15	2" Asphalt SP 9.5 Traffic Level C	SY	4,600	\$12.02	\$55,292.00
16	Type E Curbing	LF	2,200	\$13.23	\$29,106.00
17	Type F Curbing	LF	2,200	\$13.23	\$29,106.00
18	5' Wide 6" Concrete Sidewalk	LF	1,925	\$31.63	\$60,887.75
19	Sod ROW, DRAs & TCEs	SY	10,500	\$2.65	\$27,825.00
20	Seed & Mulch DRA Bottom	SY	935	\$0.46	\$430.10
21	R6-1R "ONE WAY" Sign 36" x 12"	EA	2	\$28.75	\$57.50
22	R1-1 30" x 30" Stop Sign	EA	2	\$287.50	\$575.00

Goodwin Bros Construction, Inc.

Company Name

Authorized Signature

ITB NO. 19-C00102/BK FRONTAGE ROAD ADDITION AT SR 50 AND I-75

PART B - SHERMAN HILLS BLVD. REALIGNMENT

NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT
23	R2-1 Speed Limit Sign 24" x 30"	EA	3	\$287.50	\$862.50
24	W4-2R Lane Ends Sign	EA	1	\$310.50	\$310.50
25	Yellow/Green Flex Posts	EA	2	\$86.25	\$172.50
26	OM1-1/OM4-1 Sign 18" x 18"	EA	4	\$143.75	\$575.00
27	R4-7 Keep Right Sign	EA	1	\$287.50	\$287.50
28	W3-1 Stop Ahead Sign	EA	2	\$316.25	\$632.50
29	Pavement Marking "Merge" and arrows	EA	8	\$230.00	\$1,840.00
30	Thermoplastic Striping Wht 6'-10' Skip	LF	325	\$1.15	\$373.75
31	24" Thermoplastic Stop Bar	LF	25	\$6.90	\$172.50
32	Thermoplastic Striping 6" White Solid	LF	2,410	\$1.38	\$3,325.80
33	Thermoplastic Striping 6" Yellow Solid	LF	2,100	\$1.38	\$2,898.00
34	Thermoplastic Striping 18" Yellow Solid	LF	12	\$6.90	\$82.80
35	Thermoplastic Striping Wht 10' -30' Skip	LF	160	\$1.15	\$184.00
36	Yellow Thermoplastic Painted Curbing	LF	200	\$2.30	\$460.00
37	White Painted Curbing	LF	60	\$2.30	\$138.00
38	Standard Crosswalk	LF	85	\$6.90	\$586.50
39	White/Red RPM	EA	6	\$4.60	\$27.60
40	Detectable Warning Device	EA	6	\$517.50	\$3,105.00
TORM	WATER SYSTEM:				
41	Type 5 Curb Inlet <10'	EA	4	\$4,107.69	\$16,430.76
42	Type 6 Curb Inlet <10'	EA	2	\$4,495.30	\$8,990.60
43	Type C Inlet <10'	EA	2	\$3,593.91	\$7,187.82
44	Manhole P-8 <10'	EA	4	\$4,226.15	\$16,904.60
45	Manhole P-8 >10'	EA	3	\$4,226.15	\$12,678.45
46	Single 18" RCP Concrete Endwall	EA	1	\$3,008.18	\$3,008.18
47	Single 14"x23" ERCP Concrete Endwall	EA	1	\$2,872.83	\$2,872.83
48	Rip Rap	TONS	3.0	\$654.45	\$1,963.35
49	18" RCP	LF	420	\$35.60	\$14,952.00
50	14" x 23" ERCP	LF	100	\$76.57	\$7,657.00
51	Under-ground Stormwater System	LS	1	\$224,260.09	\$224,260.09

TOTAL PART B: \$801,218.91

ITB NO. 19-C00102/BK FRONTAGE ROAD ADDITION AT SR 50 AND I-75

TOTAL BASE BID (Part A and Part B): _	\$2,064,687.76
TOTAL BASE BID (Part A and Part B) (in words):	
Two Million Sixty Four T	housand Six Hundred Eighty Seven DOLLARS
And Seventy Six Cent	
Goodwin Bros Construction, Inc.	
Company Name	Authorized Signature
This document must be completed	d and returned with your Submittal.

BID SUBMISSION

FOR

ITB NO. 19-C00102/BK FRONTAGE ROAD ADDITION AT SR 50 AND I-75

The Board of County Commissioners Hernando County, Florida

AUTHORIZED SIGNATURE

The undersigned, hereinafter called "Bidder", having visited the site of the proposed project and familiarized himself with the local conditions, nature and extent of the work, and having examined carefully the Agreement Form, General Conditions, Special Conditions, Supplementary Conditions for Federal/State Requirements, Plans and Specifications and other Contract Documents, with the Bond Requirements herein, proposed to furnish all labor, materials, equipment and other necessary items, facilities and services for the proper execution and completion of the:

FRONTAGE ROAD ADDITION AT SR 50 AND 1-75

in full accordance with the drawings and specifications prepared in accordance with your Advertisement for Bids, Instruction to Bidders, Agreement and all other documents related thereto on file in the Office of the Hernando County Purchasing and Contracts Department and if awarded the Contract, to complete said work within the time limits specified for their Bid price.

Goodwin Bros Construction, Inc		Estimator		
COMPANY NAME	CONTACT PERSON (Name)	(Title)		
PO Box 1689 MAILING ADDRESS	Daniel Goodwin Jr NAME (Print)			
Brooksville Florida 3460	352-796-0149 352-544-108	352-796-0149 352-544-1084 estimator.goodwinbros@hughes.ne		
CITY, STATE AND ZIP CODE	TELEPHONE NO FAX NO EN	MAIL ADDRESS		

Inquiries regarding this Invitation for Bid may be directed to Diane Kafrissen, Purchasing Agent II, at telephone number 352-754-4020 or email purchasing@hernandocounty.us.

IMPORTANT NOTE: When completing your Bid, do not attach any forms which may contain terms and conditions that conflict with those listed in the County's Bid document(s). Inclusion of additional terms and conditions such as those which may be on your company's standard forms shall result in your Bid being declared non-responsive as these changes will be considered a counteroffer to the County's Bid.

PROPOSAL ONE (1)

TO HERNANDO COUNTY, FLORIDA for	
19-C00102/BK-Frontage Road Addition at SR 50 and I-75	
and doing such other work incidental thereto, all in accordance with the Contract documents, m	narked
19-C00102/BK-Frontage Road Addition at SR 50 and I-75	

Every Bidder must take notice of the fact that even though his proposal be accepted and the documents signed by the Bidder to whom an award is made and by those officials authorized to do so on behalf of Hernando County, Florida, that no such award or signing shall be considered a binding Contract without a certificate from the Finance Director that funds are available to cover the cost of the work to be done, or without the approval of the County Attorney as to the form and legality of the Contract and all the pertinent documents relating thereto having been approved by said County Attorney; and such Bidder is hereby charged with this notice.

The signer of the Proposal, as Bidder, also declares that the only person, persons, company or parties interested in this Proposal, are named in the Proposal, that he has carefully examined the Advertisement of Bid, Solicitation Instructions, Contract Specifications, Plans, Supplementary Conditions for Federal/State Requirements, General Conditions, Special Conditions, Special Provisions and Contract Bond, that he or his representative has made such investigation as is necessary to determine the character and extent of the work and he proposes and agrees that if the Proposal be accepted, he will Contract with Hernando County, Florida in the form of Contract hereto annexed, to provide the necessary labor, materials, machinery, equipment, tools or apparatus, do all the work required to complete the Contract within the time mentioned in the Contract Documents according to the requirements of Hernando County, Florida, as herein and hereinafter set forth, and furnish the required surety bonds for the following prices to wit:

PROPOSAL TWO (2)

If the foregoing Proposal shall be accepted by Hernando County, Florida, and the undersigned shall fail to execute a satisfactory Contract as stated in the Advertisement herein attached, then the County may, at its option, determine that the undersigned has abandoned the Contract, and thereupon this Proposal shall be null and void, and the certified check or bond accompanying this Proposal, shall be forfeited to and become the property of Hernando County, Florida, and the full amount of said check shall be retained by the County, or if the Proposal Bond be given, the full amount of such bond shall be paid to the County as stipulated for liquidated damages; otherwise, the bond or certified check accompanying this Proposal, or the amount of said check, shall be returned to the undersigned as specified herein.

Attached hereto is a bond r certified check on	Bank,					
for the sum of: 5% of Bid						
The full names and residences of all persons and parties interested in the foregoing Bid are as follows: (If Corporation, give the names and addresses of the President and Secretary. If firm or partnership, the names and addresses of the members or partners. The Bidder shall list not only his name, but also the name of any person with whom Bidder has any type of Agreement whereby such person's improvements, enrichment, employment of possible benefit, whether Sub-Contractor, materialman, agent, supplier, or						
employer, is contingent upon the award of the Con-	iract to the Bidder).					
NAMES:	ADDRESSES:					
Daniel Goodwin Jr. President	PO Box 1689, Brooksville, Florida 34605					
Micheal Goodwin, Secretary	PO Box 1689, Brooksville, Florida 34605					
Signature of Bidder (The Bidder must indicate whether a Corporation, Partnership, Company or Individual)						
· ·						

PROPOSAL THREE (3)

The person signing shall, in his own handwriting, sign the Principal's name, his own name and his title. Where the person signing for a corporation is other than the President or Vice-President, he must, by affidavit, show his authority to bind the Corporation.

Ву:	Title: President	
Business Address of Bidder: 14341 Ponce	e De Leon Blvd	
City/State/Zip: Brooksville, Florida	34605	
Dated at: Wednesday , this 29th	_ day of <u>May</u>	A.D., 20 <u>19</u>

SECTION VIII REQUIRED FORMS AND CERTIFICATIONS WITH BID SUBMISSION

be

SECTION VIII ATTACHMENT 1

STATEMENT OF NO BID

If you do not intend to BID on this requirement, please return this form immediately to:

Hernando County
Purchasing and Contracts Department
1653 Blaise Drive
Brooksville, FL 34601

Brooksville, FL 34601
We, the undersigned, have declined to submit a proposal on:
Reason: Specifications too tight, geared toward one (1) brand or manufacturer (explain below
Insufficient time to respond.
Specifications unclear (explain below)
We do not offer this product/services.
Our present schedule does not permit us to perform.
Unable to meet specifications or provide services.
Remarks:
We understand that if this Statement of No Bid is not executed and returned, our name may deleted from the list of qualified Bidders.
COMPANY NAME:
Goodwin Bros Construction, Inc.
ADDRESS:
PO Box 1689, Brooksville, Florida 34605
PHONE: 352-796-0149
SIGNATURE:
TITLE: President

DRUG FREE WORKPLACE CERTIFICATE

I, the undersigned, in accordance with Florida Statute 287.087 (current version), hereby certify that, (print or type name of firm) Goodwin Bros Construction, Inc.
 Publishes a written statement notifying that the unlawful manufacture, distribution, dispensing possession or use of a controlled substance is prohibited in the Workplace named above, and specifying actions that will be taken against violations of such prohibition. Informs employees about the dangers of drug abuse in the workplace, the firm's policy of maintaining a drug free working environment, and available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug use violations. Gives each employee engaged in providing commodities or Contractual services that are under proposal a copy of the statement specified above. Notifies the employees that as a condition of working on the commodities or Contractual services that are under proposal, the employee will abide by the terms of the statement and will notify the employer of any conviction of, pleas of guilty or nolo contendere to, any violation of Chapter 893, or of any controlled substance law of the State of Florida or the United States, for a violation occurring in the workplace, no later than five (5) days after such conviction, and requires employees to sign copies of such written statement to acknowledge their receipt. Imposes a sanction on, or requires the satisfactory participation in, a drug abuse assistance or rehabilitation program, if such is available in the employee's community, by any employee who is so convicted. Makes a good faith effort to continue to maintain a drug free workplace through the implementation of the Drug Free Workplace program. "As a person authorized to sign this statement, I certify that the above named business, firm or corporation complies fully with the requirements set forth herein".
County of: <u>Hernando</u> Sworn to and subscribed before me this <u>29th</u> day of <u>May</u> , 20 <u>19</u>
Personally known or Produced Identification
(Specify Type of Identification)
CLAY ALLISON
Signature of Notary MY COMMISSION # FF996084 EXPIRES May 25, 2020
1 1/2 OF FUEL THE STREET THE STRE

This document should be completed and returned with your Submittal.

FlorIdaNotaryService.com

My Commission Expires:

AFFIDAVIT OF NON-COLLUSION AND OF NON-INTEREST OF HERNANDO COUNTY EMPLOYEES

Certification that Vendor/Contractor affirms that the Bid/Proposal presented to the owner is made freely, and without any secret Agreement to commit a fraudulent, deceitful, unlawful or wrongful act of collusion.

Daniel Goodwin Jr/Goodwin Bros Construction, * being first duly sworn, deposes and says that he

(it) is the Vendor/Contractor in the above Bid/Proposal, that the only person or persons interested in said proposal are named therein; that no officer, employee or agent of the Hernando County Board of County Commissioners (BOCC) or of any other Vendor/Contractor is interested in said Bid/Proposal; and that affiant makes the above Bid/Proposal with no past or present collusion with any other person, firm or corporation.
STATE OF Florida COUNTY OF Hernando
The foregoing instrument was acknowledged before me this 29th day of May, 2019
by <u>Daniel Goodwin Jr</u> , who s personally nown to me or who has produced as identification and who did take an oath.
Notary Public: My Commission Expires: (407) 398-0153 CLAY ALLISON MY COMMISSION # FF996084 EXPIRES May 25, 2020 FloridaNotaryService.com

*NOTICE: State name of Vendor/Contractor followed by name of authorized individual (and title) that is signing as Affiant. If Vendor/Contractor is an individual, state name of Vendor/Contractor only.

SWORN STATEMENT PURSUANT TO SECTION 287.133 (3) (a), FLORIDA STATUTES (current version), IN PUBLIC ENTITY CRIMES

THIS FORM MUST BE SIGNED AND SWORN TO IN THE PRESENCE OF A NOTARY PUBLIC OR OTHER OFFICIAL AUTHORIZED TO ADMINISTER OATHS.

	County of Herna	ndo
by	Daniel Goodwin Jr	President
	[print individual's nar	ne and title]
for	Goodwin Bros Const	ruction, Inc.
	[print name of entity submittir	ng sworn statement]
whose bus	iness address is 14341 Ponce De	<u> Leon Blvd, Brooksville, Flori</u> da 34601
(if applicab (If the entit statement)	y has no FEIN, include the Social	ion Number (FEIN) is 59-2827531 Security Number of the individual signing this sworn
I understar (current ve any other S goods or s other state	nd that a "public entity crime" as desiration), means a violation of any pul State or of the United States, includer Privices to be provided to any publ	efined in Paragraph 287.133 (1)(g), Florida Statutes blic entity or with an agency or political subdivision of ding, but not limited to, any Proposal or Contract for ic entity or an agency or political subdivision of any involving antitrust, fraud, theft, bribery, collusion, esentation.
Statutes (c without an by indictme	urrent version), means a finding of adjudication of guilt, in any federal o	" as defined in Paragraph 287.133 (1)(b), Florida figuilt or a conviction of a public entity crime, with or or state trial court of record relating to charges brought, as a result of a jury verdict, non-jury trial, or entry of
	nd that an "affiliate" as defined in	Paragraph 287.133 (1)(a), Florida Statutes (current
a. A p b. An entitoto age of s incompany	redecessor or successor of a person entity under the control of any nativity and who has been convicted of se officers, directors, executives, ents who are active in the managementaries constituting a controlling interpretation among persons when not for all be a prima facie case that one wingly enters into a joint venture with the second seco	on convicted of a public entity crime; or ural person who is active in the management of the f a public entity crime. The term "affiliate" includes partners, shareholders, employees, members, and nent of an affiliate. The ownership by one (1) person erest in another person, or a pooling of equipment or fair market value under an arm's length Agreement, (1) person controls another person. A person who tha person who has been convicted of a public entity hirty-six (36) months shall be considered an affiliate.
I understar version), m States with	nd that a <i>"person"</i> as defined in leans any natural person or entity on the legal power to enter into a b	Paragraph 287.133(1)(e), Florida Statutes (current rganized under the laws of any state or of the United binding Contract and which Proposals or applies to goods or services let by a public entity, or which

otherwise transacts or applies to transact business with a public entity. The term "person" includes

those officers, directors, executives, partners, shareholders, employees, members, and agents who are active in management of an entity.

6. Based on information and belief, the statement which I have marked below is true in relation to the entity submitting this sworn statement: [indicate which statement applies]

<u>DG</u> Neither the entity submitting this sworn statement, nor any of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, nor any affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989.

The entity submitting this sworn statement, or one (1) or more of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, or an affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989.

The entity submitting this sworn statement, or one (1) or more of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, or an affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989. However, there has been a subsequent proceeding before a Hearing Officer of the State of Florida, Division of Administrative Hearings and the Final Order entered by the Hearing Officer determined that it was not in the public interest to place the entity submitting this sworn statement on the convicted Vendor/Contractor list [attach a copy of the final order].

I UNDERSTAND THAT THE SUBMISSION OF THIS FORM TO THE CONTRACTING OFFICER FOR THE PUBLIC ENTITY IDENTIFIED IN PARAGRAPH ONE (1) ABOVE IS FOR THAT PUBLIC ENTITY ONLY AND, THAT THIS FORM IS VALID THROUGH DECEMBER 31, OF THE CALENDAR YEAR IN WHICH IT IS FILED. I ALSO UNDERSTAND THAT I AM REQUIRED TO INFORM THE PUBLIC ENTITY PRIOR TO ENTERING INTO A CONTRACT.

5/29/2019 [signature] [date]

STATE OF FLORIDA
COUNTY OF Hernando

PERSONALLY APPEARED BEFORE ME, the undersigned authority

Daniel Goodwin Jr ____who, after first being [Name of Individual Signing]

sworn by me, affixed his signature in the space provided above on this

29th day of May, 2019

NOTARY PUBLICA

CLAY ALLISON

My commission expires:

MY COMMISSION # FF996084 EXPIRES May 25, 2020

FloridaNotaryService.com

This document should be completed and returned with your Submittal.

(407) 398-0153

AUTHORIZED SIGNATURES/NEGOTIATORS

The Vendor/Contractor represents that the following persons are authorized to sign and/or negotiate Contracts and related documents to which the Vendor/Contractor will be duly bound:

Name Daniel Goodwin Jr	Title	President	_ Phone No	352-796-0149
Eddie Goodwin	•	Vice President	_	352-796-0149
David Goodwin		Treasurer		352-796-0149
Micheal Goodwin		Secretary		352-796-0149
(Signature)	/			
President				
(Title)				
Goodwin Bros Construction, In (Name of Business) The Vendor/Contractor shall coproposal:		e and submit the follow	ing informatio	n with the Bid or
Type of Organization				
——— Sole Proprietorship		— Partnership		
Joint Venture	_×	Corporation		
State of Incorporation: Floric	la			
Federal I.D. is <u>59-2827531</u>				

VENDOR/CONTRACTOR INFORMATION

In addition to General conditions, your BID/PROPOSAL may be disqualified if the following Vendor/Contractor information is not returned with your BID/PROPOSAL.

Vendor/Contractor is:
(X) Corporation
() Partnership
() Sole Proprietorship () Other (Explain)
(Explain)
Federal Employer Identification Number: 59-2827531
Please attach your completed W-9 Form
PAYMENT WILL NOT BE MADE UNTIL A COMPLETED W9 HAS BEEN RECEIVED.
Firm Name: Goodwin Bros Construction, Inc.
Mailing Address: PO Box 1689
City Brooksville State Florida Zip 34605
Telephone No. 352-796-0149 Fax No. 352-544-1084
Web Address:EMail:estimator.goodwinbros@hughes.net
Commodity or Service Supply: Storm Drainage, Earthwork, Limerock Base, Asphalt Paving, Concrete Curb
If nomittance address is different from the mailing address as indicate helesy
If remittance address is different from the mailing address so indicate below.
Firm Name: Same As Above
Mailing Address:
CityStateZip
An ACH electronic payment method is offered as an alternative to a payment by
physical check.
() Please check this box if you accept the ACH electronic payment method.
(Recommended and Preferred)
Simulation of 17/2
Signature:

This document should be completed and returned with your Submittal.

President

Name & Title Printed: Daniel Goodwin Jr

LOCAL VENDOR AFFIDAVIT OF ELIGIBILITY

THIS FORM MUST BE SIGNED AND SWORN TO IN THE PRESENCE OF A NOTARY PUBLIC OR OTHER OFFICIAL AUTHORIZED TO ADMINISTER OATHS.

1.	This	s sworn stat	ement is subm	itted to				
	-	HERNAN	IDO COUNTY	BOARD OF CO	UNTY COMMISS	SIONERS		
	_t	ру	Daniel Goo				President	-
			Goodwin Br	Print individual os Construc	dual's name and	titlej		
	_ <u>f</u>	or `			dividual submittin	g sworn s	statement]	24
	Wh	ose busines	s address is <u>1</u>	4341 Ponce	De Leon Bl	/d, Brod	oksville, Florida 3460	11
	(If a	applicable) it	s Federal Emp	loyer Identificat	ion Number (FEII	۷) is	59-2827531	
	(If 1	the entity h	as no FEIN, i	nclude the So	cial Security Nu	mber of t	the individual signing this	Sworn statement) :
2.	LO	CAL PREFE	RENCE ELIG	IBILITY				
	A.	Vendor/Ind	dividual has b d or Quote? _	een in busines	ss in Hernando NO	County f	or a minimum of twelve (12) months prior to
	В.	Proof of R	eal Property 1	ax Submitted	with Affidavit: \	res_X	NO	
	C.	Copy of FI	lorida Divisior	of Corporatio	ns Annual Repo	rt Submi	itted with Affidavit: YES	∠ _no
FOR T	HE PI	JBLIC ENT	ITY IDENTIFIE	D IN PARAGRA	APH ONE (1) AB	QVE IS F	O COUNTY PURCHASING FOR THAT PUBLIC ENTITY D TO HERNANDO COUNT	Y ONLY AND, THAT
						r A		
					[Signature]			
					5/29/2019			
					[Date]			
		LORIDA Hernand	0					
PERSO being S	ONAL Sworn	LY APPEAI by me, affix	RED BEFORE ked his signatu	ME, the unders	signed authority _ provided above o	1	el Goodwin Jr th_ Day of <u>May</u>	_who, after first , 20 <u>19</u>
			My commis	NOTARY P	UBLIC	A	CLAY ALLISON MY COMMISSION # FF996 EXPIRES May 25, 2020	, I
Person	allv K	ínown		or Produced Ide	ntification	(407) 398-01		- Annual Control
		tification Pro		10 v 10707070707070				

HERNANDO COUNTY E-VERIFY CERTIFICATION

Bid/Contract No:	19-C00102/BK-Frontage Road Addition at SR 50 and I-75
Financial Project No(s):
Project Description: _	19-C00102/BK-Frontage Road Addition at SR 50 and I-75
	·
Vendor/Contractor ac	knowledges and agrees to the following:
	all utilize the U.S. Department of Homeland Security's E-Verify system, in erms governing use of the system, to confirm the employment eligibility of
perform em 2. All persons	employed by the Vendor/Contractor during the term of the Contract to ployment duties within Florida; and , including Sub-Contractors, assigned by the Vendor/Contractor to perform ant to the Contract with the Department.
Company/Firm: Good	win Bros Construction, Inc.
Authorized Signature	
Print Name: Daniel C	Goodwin Jr
Title: President	
Date:	

CONSTRUCTION CONTRACTOR QUALIFICATION SUBMITTAL PACKAGE REQUIREMENTS

A. REFERENCES FOR BIDDER:

Bidder must provide a minimum of two (2) references. Required format for references is provided at the end of this attachment. References must be individuals that can be readily contacted and have first-hand knowledge of the Bidder's performance on the specific project performed by the Bidder. Each reference project must meet the following criteria:

- Project at substantial completion or completed within the last seven (7) years.
- Constructed value of at least \$2,000,000.00.
- Similar in size and scope to the Frontage Road Addition at SR 50 and I-75.

B. KEY SUBCONTRACTORS:

Each Bidder must submit with its response a list of Sub-Contractors who will perform the work in each of the following categories ("Key Sub-Contractors"). List the name of the proposed Sub-Contractor, or "Bidder" if the Bidder will perform the work, after each work category:

(1) Earthwork construction Bidder-Goodwin Bros	
(2) Culvert/drainage work Bidder-Goodwin Bros	
(3) Roadway work Bidder-Goodwin Bros	
(4) Pavement markings AKCA, Inc.	
(5) Sodding/seeding J&J Sod	
(6) Clearing & grubbing Bidder-Goodwin Bros	
(7) Material Testing Central Testing	
(8) Survey layout/as-builts Coastal Engineering	
(9) Maintenance of traffic Bob's Barricades	
C. <u>LICENSES</u> :	
The Bidder must be a registered to do business in the State of Florida. All Bidder's and/or Sub-Contractors performed work requiring a specialty license must be licensed in the State of Florida. This includes but is not limited to ele and mechanical trades, as well as any other earthwork Contractor on the Bidder's team. Provide license information (as required in Paragraph 27) below for Bidder and all Sub-Contractors identified herein.	ctrical
Classification Issuing Government License Issue Date Number	
SEE ATTACHED	
——————————————————————————————————————	

D. ORGANIZATION CHART:

Bidder must provide an Organization Chart showing Bidder's Team identifying specific responsibilities of Bidder and Sub-Contractors.

ATTACHMENT 9 Continued

E. PROJECT MANAGER AND SUPERINTENDENT QUALIFICATIONS:

Bidder must provide resumes of Project Manager and Superintendent listing qualifications, experience, education and training. The Project Manager and Superintendent must have adequate experience, generally considered as a working project manager/ superintendent on a minimum of two projects, similar in size and scope to the FRONTAGE ROAD ADDITION AT SR 50 AND I-75, within the past seven (7) years.

F. BIDDER/KEY SUBCONTRACTOR SPECIFIC QUALIFICATIONS:

Bidder must demonstrate Bidder's/Key Sub-Contractor's experience and expertise in the tasks provided below and at the minimum identified criteria. Specific projects, locations and Contractor who performed work must be provided.

1) Document prior experience in construction of new roads of at least 3,000 LF. Oswalt Road-Clermont, Florida, Lake County

Johns Lake Road Reconstruction-Clermont, Florida, Lake County
110th Street-Marion County, Florida

2) Document prior experience in drainage retention construction.

BMP 6-Hernando County

Asphalt Paving in Ridge Manor-Cockleberry Portion-Hernando County

This document should be completed and returned with your Submittal.

THE REMAINDER OF THIS PAGE LEFT BLANK INTENTIONALLY.

ATTACHMENT 9 Continued

REFERENCE 3

Bidder Company Name: Goodwin Bros Construction, Inc
Reference Business/Owner Name: Hernando County BOCC
Reference Contact Person: Scott Nelson
Reference Address: 1525 E. Jefferson Street, Brooksville, Florida 34601
Reference Phone No.: 352-754-4062
Project Name: Lake Lindsey Road Phase 3
Project Location: Brooksville, Florida
Contractor Project Manager: Daniel Goodwin Jr
Site Superintendent: Dudley Bond
Contract Amount: \$1,164,233.06
Date Project Commenced: 9/2016
Date of Substantial Completion: 3/2017
Date of Final Completion: 4/2017
Description of Work Performed: Stabilized Subgrade, Limerock Base, Asphalt Paving, Storm Drainage,
Sodding, Striping & Signage.
Experience shall be related to successfully completed projects within the last seven (7) years (i.e. the project must have been Substantially Complete within seven (7) years of the due date of this ITB. Only projects that are complete or substantially complete as of the Bid due date will be considered).
I certify that the qualifications questionnaire information is true and correct to the best of my knowledge:
Company Goodwin Bros Construction, Inc.
By President
Name Daniel Goodwin Jr.
Signature
Address PO Box 1689, Brooksville, Florida 34601 Phone 352-796-0149
Data 5/29/2019

This document should be completed and returned with your Submittal.

THE REMAINDER OF THIS PAGE LEFT BLANK INTENTIONALLY.

SECTION VIII ATTACHMENT 10 VENDOR/CONTRACTOR'S LICENSE

PROVIDE A COPY OF THE CONTRACTOR'S LICENSE(S)
AS STATED IN PARAGRAPH 27



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 2/21/2019

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER	Phone:	(352)796-3532	CONTACT Jon T Browning	
Browning Insurance Agency Inc Brooksville P O Box 818	Fax :	(352)796-8811	PHONE (A/C, No, Ext): (352)796-3532 FAX (A/C, Lending	No):
Brooksville, Florida 34605			INSURER(S) AFFORDING COVERAGE	NAIC#
			INSURER A: Auto-Owners Insurance Company	18988
INSURED			INSURER B: Southern-Owners Insurance Company	10190
Goodwin Bros Construction Inc			INSURER C: American Interstate Insurance Company	31895
PO Box 1689 Brooksville, FL 346051689			INSURER D:	
			INSURER E:	
			INSURER F:	
201/		16		

COVERAGES		CERTIFICATE NUMBER: 10	REVISION NUMBER:				
	THIS IS TO CERTIFY	THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN	N ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PER				
	INDICATED MOTATI	THETANDING ANY DECLIDEMENT TERM OF CONDITION OF ANY	CONTRACT OR OTHER ROCHMENT WITH RECRECT TO MINCH!				

RIOD INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS. THIS

INSR LTR	TYPE OF INSURANCE	ADDL S INSD	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMIT	s	
	✓ COMMERCIAL GENERAL LIABILITY	'	20239114	7/1/2018	7/1/2019	EACH OCCURRENCE	\$	1,000,000
A	CLAIMS-MADE ✓ OCCUR				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	DAMAGE TO RENTED PREMISES (Ea occurrence)	\$	50,000
						MED EXP (Any one person)	\$	5,000
						PERSONAL & ADV INJURY	\$	1,000,000
	GEN'L AGGREGATE LIMIT APPLIES PER					GENERAL AGGREGATE	\$	2,000,000
	POLICY PRO- JECT LOC					PRODUCTS - COMP/OP AGG	\$	2,000,000
	OTHER:						\$	
Α	AUTOMOBILE LIABILITY		9575113200	7/1/2018	7/1/2019	COMBINED SINGLE LIMIT (Ea accident)	\$	1,000,000
•	✓ ANY AUTO					BODILY INJURY (Per person)	\$	
	OWNED SCHEDULE AUTOS ONLY AUTOS					BODILY INJURY (Per accident)	\$	
	HIRED NON-OWNE AUTOS ON					PROPERTY DAMAGE (Per accident)	\$	
							\$	
В	✓ UMBRELLA LIAB ✓ OCCUR		9575113201	7/1/2018	7/1/2019	EACH OCCURRENCE	\$	5,000,000
Б	EXCESS LIAB CLAIMS	-MADE				AGGREGATE	\$	5,000,000
	DED ✓ RETENTION \$ 10,000					Per accident	\$	5,000,000
C	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY		AVWCFL2756752019	1/1/2019	1/1/2020	✓ PER OTH- STATUTE ER		
	ANYPROPRIETOR/PARTNER/EXECUTIVE	N N/A				E.L. EACH ACCIDENT	\$	1,000,000
	OFFICER/MEMBER EXCLUDED? (Mandatory in NH)	IN N/A				E.L. DISEASE - EA EMPLOYEE	\$	1,000,000
	If yes, describe under DESCRIPTION OF OPERATIONS below					E.L. DISEASE - POLICY LIMIT	\$	1,000,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (ACORD 101, Additional Remarks Schedule, may be attached if more space is required)

Excavation & underground utilities contractor

CERTIFICATE HOLDER	CANCELLATION
Holder's Nature of Interest : Certificate Holder Hernando County Purchasing Department 1653 Blaise Drive	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
Brooksville, FL 34601	AUTHORIZED REPRESENTATIVE

HERNANDO COUNTY BUILDING DIVISION CERTIFICATE OF COMPETENCY

GOODWIN DANIEL R GOODWIN BROTHERS CONST INC

POST OFFICE BOX 1689
BROOKSVILLE FL 34605-1689
LICENSE #: AAA0047510
PAVING CONTRACTOR
EXPIRES: 04/30/2021



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD

THE UNDERGROUND UTILITY & EXCAVATION CO HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

GOODWIN, DAVID REECE SR

GOODWIN BROS CONSTRUCTION INC 14341 PONCE DE LEON BLVD BROOKSVILLE FL 34601

LICENSE NUMBER: CUC1224603

EXPIRATION DATE: AUGUST 31, 2020

Always verify licenses online at MyFloridaLicense.com



Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.

2018 FLORIDA PROFIT CORPORATION ANNUAL REPORT

DOCUMENT# J85090

Entity Name: GOODWIN BROS. CONSTRUCTION, INC.

Current Principal Place of Business:

14341 PONCE DE LEON BLVD BROOKSVILLE, FL 34601-8431

Current Mailing Address:

PO BOX 1689

BROOKSVILLE, FL 34605-1689 US

FEI Number: 59-2827531

Name and Address of Current Registered Agent:

GOODWIN, DANIEL RAY JR. 14341 PONCE DE LEON BLVD BROOKSVILLE, FL 34601 US

The above named entity submits this statement for the purpose of changing its registered office or registered agent, or both, in the State of Florida.

SIGNATURE:

Electronic Signature of Registered Agent

Date

FILED Jan 15, 2018

Secretary of State

CC5547381021

Officer/Director Detail:

Title

DV

GOODWIN, EDWARD ALAN

Title

DP

Name

18352 LAKE LINDSEY ROAD

Name

GOODWIN, DANIEL RAY JR.

Certificate of Status Desired: No

Address

TOOL ET WE ENTOCET TO

Address

22188 GREENVALLEY TRL. BROOKSVILLE FL 34601

City-State-Zip:

BROOKSVILLE FL 34610

City-State-Zip:

Title Name OFFICER

Title Name

GOODWIN, DAVID REESE

Address

GOODWIN, CAROL S 16290 CITRUS WAY

Address

7080 BRITTLE ROAD

City-State-Zip:

BROOKSVILLE FL 34614

City-State-Zip:

BROOKSVILLE FL 34601

Title

DS

Name

GOODWIN, MICHEAL SHAWN

Address

15160 SNOW MEMORIAL HWY

City-State-Zip:

BROOKSVILLE FL 34601

I hereby certify that the information indicated on this report or supplemental report is true and accurate and that my electronic signature shall have the same legal effect as if made under oath; that I am an officer or director of the corporation or the receiver or trustee empowered to execute this report as required by Chapter 607, Florida Statutes; and that my name appears above, or on an attachment with all other like empowered.

SIGNATURE: DANIEL GOODWIN, JR.

PRESIDENT

01/15/2018

Electronic Signature of Signing Officer/Director Detail

Date

Hernando County, Florid Sepublic Inquiry S	SPECIAL MESSAGES NO MESSAGES COUMP VStern*	V6.25
TAX YEAR 2015 PR	OPERTY VIEW TODAY'S DATE 01/12/2016	PROPER Y CARD
KEY 76376 OWNER	PARCEL R29 221 19 3600 0012 0010	SEARCH PARCELS SALES BY AREA SALES BY GROUP
01 GOODWIN BROTHERS CONST GO INC.	14341 PONCE DE LEON BLVD	SEARCH SUBDIVISION
	100000000000000000000000000000000000000	INFORMATION REQ.
		SUBMIT
ADDRESS	DESCRIPTION	
14341 PONCE DE LECN BLVD BROOKSVILLE, FI, 34501-8431	STAFFORD BLOCK 17 ALL LESS ST RD R/W ORB 232 PG 482 S BLK 18 THAT PART DES IN ORB 66 PG 258 8 THAT PART OF BLK A & THAT	NAVIGATION NEXT OWNER
PROPERTY INFORMATION (CERTIFIED FOR RO	L YEAR 2015)	PREV OWNER
ZONING DESC LEVY GWES COUNTY WIDE EMS	ZONE ID	NEXT PARCEL PREV PARCEL
AREA C981 PONCE DELEGRATION I USE	Z TO CO LINE GIS MAP	*** ATTENTION ***
MILLAGE 15.1302 MARKEY		Use the PRINT buttor on the bottom right to urint this screen

PCA2 4 COMMERCIAL

PCA4 9 COMMERCIAL

106743 CLASS 0 SOFT 5265 ACRES 295001 ASSESSED 295001 EXEMPT 0 TAXABLE EXEMPTIONS NHX

LAND

JUST

PCA3 0 DUNITS

PGAT 1 GONVENTIONAL

To calculate the estimated taxes for next year (if the Property is sold this calendar year):

**** SCROLL DOWN FOR ADDITIONAL INFORMATION ****

5.7

295001

Taxes are Calculator within a sometions or Devindur forage Protection based on the value entered above, using Courses on eiger and consent affected exposements

SETTE OF A PARTIES.

SALANCE STATE SALAN SALAN STATE STATE SALAN SALA TOTAL TAX DUE 0.00

Taxes are for calendar year Jensony 1 thru December 1.5

Current year tax discremes increasily November 1 thru March 31, are determined by posturare of payment. Laxes become delinquent apple 1.

Delinquent tax amount due is nate-mined by the date your payment is regained by the tax collection.

Delinquent taxes must be paid by considered fine is only. Cach. Consider check, Cartified check or Credit card.

Click here for Op Line Payment Congre-

PAYMENT HISTORY KEY 76376

TODAY S DATE

01/12/2016

For a printable copy of the tax bill of a payment please click on the payment year. Delinquent taxes are not printable in bill form. Print this page for proof of payment.

		CERTIFICATE	RECEIPT	LAM		DATE	AMT PAID	DISC/PEN
	00 01		2035605960	CURRENC	PYMT	11/10/15	35081.57	5.2.1.1.11.3
014	00 01			CHREST	1.5344	11 10/14	54914.47	8204.79
3013 (00 01			CUIRENT	PYST		34972.80	5207.26
2012 (00 01			CURE NE	PHT	11/29/12	54809.75	9700.41
2011 1			2011032706		1.1116	(1/15/11	54742.40	8197.66
2010 (20108175 04			12/10/10	54739.33	\$197.47
					1 1181	11/16/09	54963.15	9207.63
0008 (0.0 (6.1		2003649300	4. 国际代码	PYMT	13721709	\$5234.19	9218 09
1007 (PYMT	71/20/07	\$4003.50	\$168.48
2006 0			1007871571	CERCENT	PANY		\$3472.83	\$144.69

PAST TAX VALUATION KEY

76376

YEAR/ADJ	ET HUM	ASSISSED	EXEMPTIONS TAXABLE	Gross Tax (No Pen/Disc)
2015 00		92980E1	5291001	35295.80
3014 00		628834(3238340	\$3119.76
2013 00			290205	\$5180.00
TAIS 00			8292065	95070.10
2911 00			9091767	84940.00
2010 00		49.23.80	\$293833	54036.80
2009 00		3 (532)	, 30 - 1 PH	11190.78
2008 68		6321765	\$320.43	95457.28
2007 01			21.537.50	\$4211.38
2007 00			0193695	\$22.20.96
2006 00			5 94/5)	53617.22

Resume For: Daniel R. Goodwin Jr. President, Estimator, Superintendent

Experience:

Daniel has over 30 years' experience in road construction, underground utilities & site work, excavation, & paving.

Project Experience:

(Some of Daniels projects includes & ranging from Hernando Co, Pasco Co, Polk Co, Marion Co, & Hillsborough Co)

*Sunshine Grove Rd Widening	*S. Brooksville Vision Area	*Cr550 Road Widening
*Cr 491	*Nature Coast Commons	*Lake Hancock
*DOT Multi Turn Lanes	*DOT Parkway Toll Plaza	*DOT Dual Rest area
*Southern Hills	Forest Oaks & Deltona	'CDBG-City of Dade City
*Walmart Reg.Dist.Center Expan,	'Airport Sub Waste Treatment	'Nw 35 th St - Ocala
'Crum Rd	*Challenger k8 & Chocachatti Turn	lanes
*Cortez Commons	*Vista Park	*Mariner Village
'Chancey Rd -Pasco co	[*] Radial rd. Realigument	*Richbarn rd.
Croom & Nobleton-Croom Rd	[] Dan Brownhill Dust Control	*Hill n Dale Resurfacing
*Lake Lindsey Rd Ph. 1 & 2	'Hernando Oaks	* Springhill Dr. @ Galgano Culvert
*Royal Highlands Areas A, C, E, F,	G *Royal Highlands Area B Ph. 2&3	

Work Experience:

June 1985-Present

Goodwin Bros Construction Inc Brooksville, FL 34601

- -Superintendent over job sites
- -Equipment operator

Phone (352) 796-0149 Fax (352) 544-1084

Resume For: Edward A. Goodwin Vice-President, Superintendent

Experience:

Eddie has over 30 years' experience in road construction, underground utilities & site work, excavation, & paving.

Project Experience:

(Some of Eddie's projects includes & ranging from Hernando Co, Pasco Co, Polk Co, Marion Co, & Hillsborough Co)

*Sunshine Grove Rd Widening	*S. Brooksville Vision Area	*Cr550 Road Widening
*Cr 491	*Nature Coast Commons	*Lake Hancock
'DOT Multi Turn Lanes	*DOT Parkway Toll Plaza	*DOT Dual Rest area
*Southern Hills	*Forest Oaks & Deltona	*CDBG-City of Dade City
*Walmart Reg.Dist.Center Expan.	*Airport Sub-Waste Treatment	*Nw 35" St - Ocala
*Crum Rd	*Challenger k8 & Chocachatti Turn	lanes
*Cortez Commons	*Vista Park	*Mariner Village
*Chancey Rd -Pasco co	*Radial rd. Realignment	*Richbarn rd.
'Croom & Nobleton-Croom Rd	Dan Brownhill Dust Control	*Hill n Dale Resurfacing
*Lake Lindsey Rd Ph. 1 & 2	*Hernando Oaks	* Springhill Dr. @ Galgano Culvert
'Royal Highlands Areas A, C, E, F,	G *Royal Highlands Area B Ph. 2&3	

Work Experience:

June 1986- Present

Goodwin Bros Construction Inc Brooksville, FL 34601

- -Superintendent over job sites
- -Equipment operator

Resume For: David Goodwin Treasurer, Superintendent

Experience:

David has over 30 years' experience in road construction, underground utilities & site work, excavation, & paving.

Project Experience:

(Some of David's projects includes & ranging from Hernando Co, Pasco Co, Polk Co, Marion Co, & Hillsborough Co)

*Sunshine Grove Rd Widening

*Lake Hancock

*DOT Multi Turn Lanes

*DOT Parkway Toll Plaza

*DOT Dual Rest area

*Walmart Reg, Dist, Center Expan.

*Airport Sub Waste Treatment

*Hill n Dale Resurfacing

*Nw 35th St - Ocala

' Springhill Dr. @ Galgano Culvert

*Mariner Village

*Cortez Commons

*Croom & Nobleton-Croom Rd

*Lake Lindsey Rd Ph. 1 & 2

*Royal Highlands Areas A, C, E, F, G *Royal Highlands Area B Ph. 2&3

'Fed-Ex Ocala

* Dyke Work @ Cemex

* Argos - Newberry

*Lena Rd Landfill Excavation

*Dyke Construction & Stripped Over Burn @ Fl Rock

*Hernando CO Ph HC & DD Landfill

* Overburn @ Vulcan

Work Experience:

June 1987- Present

Goodwin Bros Construction Inc Brooksville, FL 34601

-Superintendent over job sites

-Equipment operator



Phone (352) 796-0149 Fax (352) 544-1084

Resume For: Dudley Bond Superintendent

Experience:

Dudley has over 30 years' experience in road construction, underground utilities & site work, excavation, & paving.

Project Experience:

(Some of Dudley's projects includes & ranging from Hernando, Pasco, Polk, Marion, & Hillsborough Co)

*Sunshine Grove Rd Widening

'Chancey Rd -Pasco co

*Lake Lindsey Rd Ph. 1 & 2

*Cortez Commons

*Vista Park

* Mariner Village

*Royal Highlands Areas A, C, E, F, G *Royal Highlands Area B Ph. 2 & 3 *Hill n Dale Resurfacing

Work Experience:

Goodwin Bros Construction Inc.	2004- Present	-Superintendent over job sites -Equipment operator
West Coast underground	2003-2004	-Underground Utilities -Sewer -Water & Storm
Asphalt Recycling Inc.	2001-2003	-Road Reclamation -Rebuilding Supervisor -Equipment Operator
Hernando Co .	1991- 2001	-5 yrs-Road maintenance -Public Works -5 yrs-Engineering as Roadway & Asphalt inspector - ATSA certified traffic control supervisor.

Previous experience also includes Asphalt, Base Work, & DOT work.

TRENCH SAFETY ACT COMPLIANCE FORM

- 1. The Vendor/Contractor acknowledges the existence of the Florida Trench Safety Act at §553.60 through 553.64, Florida Statutes (current version) (hereinafter called the "Act") and the requirements established herein.
- 2. The Vendor/Contractor further acknowledges that the Act stabled the Federal excavation safety standards set forth at 29 CFR Part 1926, Subpart P as the Interim State standard applicable to this project.
- 3. The Vendor/Contractor will comply with all applicable trench safety standards, during all phases of the work, if awarded the Contract, and will ensure that all Sub-Contractors will also comply with the Act.
- 4. The Vendor/Contractor will consider the geotechnical information available from the County, from its own sources and all other relevant information in its design of the trench safety system it will employ on the subject project. The Vendor/Contractor acknowledges that the County is not obligated to provide such information, that Vendor/Contractor is not to rely solely on such information if provided, and that Vendor/Contractor is solely responsible for the selection of the data on which he relies in designing said safety system, as well as for the system itself.
- 5. The Vendor/Contractor acknowledges that included in the Total Price in the Bid Form are costs for complying with the Florida Trench Safety Act, which is in effect as of October 1, 1990. The undersigned further identifies the costs to be \$ 1.00 per lineal foot.
- 6. The amount in Item 5 herein includes the Trench Safety Compliance Methods and the units of each safety measure. The unit costs and the unit prices are shown solely for the purpose of compliance with the procedural requirements of the Act.

Α.	Trench Safety Compliance Method Sloping & Shoring	Unit (LF, SY) LF	Quantity 3370	Unit Cost \$1.00	Extended Cost \$3,370.00
В.				\$	\$
C.	1			\$	\$
D.				\$	\$
				TOTAL:	\$3,370.00

Use additional blank sheets to further itemize if more room is required.

7. Acceptance of the Bid to which this certification and disclosure applies in no way represents that the County or its representatives have evaluated or determined that the above costs are adequate to comply with the applicable trench safety requirements, nor does it in anyway relieve the undersigned of his sole responsibility for complying all applicable safety requirements.

Company: Goodwin Bros Construction, Inc

5/29/2019

Authorized Signature Date

STATE OF FLORIDA]

SECTION VIII ATTACHMENT 12

AFFIDAVIT

(To be filled in and executed if the Vendor/Contractor is a Corporation)

COUNTY OF HERNANDO] Micheal Goodwin being duly sworn, deposes and says that he is Secretary of Goodwin Bros Construction, Inc , a Corporation organized and existing under and by virtues of the laws of the State of Florida, and having its principal office at: 14341 Ponce De Leon Blvd, Brooksville, Florida 34605 (Address) Affiant further says that he is familiar with the records, minute books and bylaws of Goodwin Bros Construction, Inc (Name of Corporation) of the Corporation, is duly authorized to sign Secretary (Title) the Bid for 19-C00102/BK Frontage Road Addition at SR 50 and I75 for said Corporation by virtues of: Florida (State whether a provision of bylaws or a Resolution of the Board of Directors. If by Resolution, give date of adoption). Sworn to before me this 29th day of ___ May CLAY ALLISON MY COMMISSION # FF996084 EXPIRES May 25, 2020 Notary Public FloridaNotaryService.com

BID BOND

Any singular reference to Vendor/Contractor, Surety, Owner, or other party shall be considered plural where applicable.

VENDOR/CONTRACTOR (Name and Address): Goodwin Bros Construction Inc P O Box 1689 Brooksville, FL 34605 SURETY (Name and Address of Principal Place of Business): Berkley Insurance Company 475 Steamboat Road Greenwich, CT 06830 OWNER: BOARD OF COUNTY COMMISSIONERS, HERNANDO COUNTY, FLORIDA 20 North Main Street, Room 160 Brooksville, Florida 34601 BID Project: 19-C00102/BK FRONTAGE ROAD ADDITION AT SR 50 AND I-75 BROOKSVILLE, FLORIDA BOND Bond Number: Bid Bond Date (Not later than Bid due date): May 29th, 2019 Penal sum Five Percent of Amount Bid 5% of Amount Bid (Words) (Figures) Surety and Vendor/Contractor, intending to be legally bound hereby, subject to the terms printed on the reverse side hereof, do each cause this Bid Bond to be duly executed on its behalf by its authorized officer, agent, or representative. VENDOR/CONTRACTOR SURETY Goodwin Bros. Construction, Inc. (Seal) Berkley Insurance Company Vendor/Contractor's Name and Corporate Seal Surety's Name and Corporate Seal By: a Kevin R. Wojtowicz By: Signature and Title Signature and Pitle Attorney-in-Fact & FL Licensed (Attach Rower of Atterney) Agent Attest: Attest: Margaret A. Schulz, CSR

Note: Above addresses are to be used for giving required notice.

- 1. Vendor/Contractor and Surety, jointly and severally, bind themselves, their heirs, executors, administrators, successors and assigns to pay to Owner upon default of Vendor/Contractor the penal sum set forth on the face of this Bond. Payment of the penal sum is the extent of Surety's liability.
- Default of Vendor/Contractor shall occur upon the failure of Vendor/Contractor to deliver within the time required by the Bid Documents (or any extension thereof agreed to in writing by Owner) the executed Agreement required by the Bid Documents and any performance and payment bonds required by the Bid Documents.
- 3. This obligation shall be null and void if:
 - 3.1. Owner accepts Vendor/Contractor's Bid and Vendor/Contractor delivers within the time required by the Bid Documents (or any extension thereof agreed to in writing by Owner) the executed Agreement required by the Bid Documents and any performance and payment bonds required by the Bid Documents, or
 - 3.2. All Bids are rejected by Owner, or
 - 3.3. Owner fails to issue a Notice of Award to Vendor/Contractor within the time specified in the Bid Documents (or any extension thereof agreed to in writing by Vendor/Contractor and, if applicable, consented to by Surety when required by Paragraph 5 hereof).
- 4. Payment under this Bond will be due and payable upon default by Vendor/Contractor and within thirty (30) calendar days after receipt by Vendor/Contractor and Surety of written notice of default from Owner, which notice will be given with reasonable promptness, identifying this Bond and the Project and including a statement of the amount due.
- 5. Surety waives notice of any and all defenses based on or arising out of any time extension to issue Notice of Award agreed to in writing by Owner and Vendor/Contractor, provided that the total time for issuing Notice of Award including extensions shall not in the aggregate exceed One Hundred Twenty (120) days from Bid due date without Surety's written consent.
- 6. No suit or action shall be commenced under this Bond prior to thirty (30) calendar days after the notice of default required in Paragraph 4 above is received by Vendor/Contractor and Surety and in no case later than one (1) year after Bid due date.
- 7. Any suit or action under this Bond shall be commenced only in a court of competent jurisdiction located in the state in which the Project is located.
- 8. Notices required hereunder shall be in writing and sent to Vendor/Contractor and Surety at their respective addresses shown on the face of this Bond. Such notices may be sent by personal delivery, commercial courier, or by United States Registered or Certified Mail, return receipt requested, postage pre-paid, and shall be deemed to be effective upon receipt by the party concerned.
- 9. Surety shall cause to be attached to this Bond a current and effective Power of Attorney evidencing the authority of the officer, agent, or representative who executed this Bond on behalf of Surety to execute, seal, and deliver such Bond and bind the Surety thereby.
- 10. This Bond is intended to conform to all applicable statutory requirements. Any applicable requirement of any applicable statute that has been omitted from this Bond shall be deemed to be included herein as if set forth at length. If any provision of this Bond conflicts with any applicable statute, then the provision of said statute shall govern and the remainder of this Bond that is not in conflict therewith shall continue in full force and effect.
- 11. The term "Bid" as used herein includes a Bid, offer, or proposal as applicable.

POWER OF ATTORNEY BERKLEY INSURANCE COMPANY WILMINGTON, DELAWARE

NOTICE: The warning found elsewhere in this Power of Attorney affects the validity thereof. Please review carefully.

KNOW ALL MEN BY THESE PRESENTS, that BERKLEY INSURANCE COMPANY (the "Company"), a corporation duly organized and existing under the laws of the State of Delaware, having its principal office in Greenwich, CT, has made, constituted and appointed, and does by these presents make, constitute and appoint: Kevin R. Wojtowicz; John R. Neu; or David R. Turcios of Nielson & Company, Inc. of St. Petersburg, FL its true and lawful Attorney-in-Fact, to sign its name as surety only as delineated below and to execute, seal, acknowledge and deliver any and all bonds and undertakings, with the exception of Financial Guaranty Insurance, providing that no single obligation shall exceed One Hundred Million and 00/100 U.S. Dollars (U.S.\$100,000,000.00), to the same extent as if such bonds had been duly executed and acknowledged by the regularly elected officers of the Company at its principal office in their own proper persons.

This Power of Attorney shall be construed and enforced in accordance with, and governed by, the laws of the State of Delaware, without giving effect to the principles of conflicts of laws thereof. This Power of Attorney is granted pursuant to the following resolutions which were duly and validly adopted at a meeting of the Board of Directors of the Company held on January 25, 2010:

RESOLVED, that, with respect to the Surety business written by Berkley Surety Group, the Chairman of the Board, Chief Executive Officer, President or any Vice President of the Company, in conjunction with the Secretary or any Assistant Secretary are hereby authorized to execute powers of attorney authorizing and qualifying the attorney-in-fact named therein to execute bonds, undertakings, recognizances, or other suretyship obligations on behalf of the Company, and to affix the corporate seal of the Company to powers of attorney executed pursuant hereto; and said officers may remove any such attorney-in-fact and revoke any power of attorney previously granted; and further

RESOLVED, that such power of attorney limits the acts of those named therein to the bonds, undertakings, recognizances, or other suretyship obligations specifically named therein, and they have no authority to bind the Company except in the manner and to the extent therein stated; and further

RESOLVED, that such power of attorney revokes all previous powers issued on behalf of the attorney-in-fact named; and further

RESOLVED, that the signature of any authorized officer and the seal of the Company may be affixed by facsimile to any power of attorney or certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligation of the Company; and such signature and seal when so used shall have the same force and effect as though manually affixed. The Company may continue to use for the purposes herein stated the facsimile signature of any person or persons who shall have been such officer or officers of the Company, notwithstanding the fact that they may have ceased to be such at the time when such instruments shall be issued.

IN WITNESS WHEREOF, the Company has caused these presents to be signed and attested by its appropriate officers and its corporate seal hereunto affixed this 21 day of ________, 2016.

(Seal)

Ву_

Attest:

Ira S. Lederman

Senior Vice President & Secretary

Berkley Insurance Company

Jeffrey M Hafter

WARNING: THIS POWER INVALID IF NOT PRINTED ON BLUE "BERKLEY" SECURITY PAPER.

STATE OF CONNECTICUT)

COUNTY OF FAIRFIELD

Sworn to before me, a Notary Public in the State of Connecticut, this day of day of , 2016, by Ira S. Lederman and Jeffrey M. Hafter who are sworn to me to be the Senior Vice President and Secretary, and the Senior Vice President, respectively, of Berkley Insurance Company.

MARIA C. RUNDBAKEN

NOTARY PUBLIC
MY COMMISSION EXPIRES

Notary Public, State of Connecticut

APRIL 30, 2019 CERTIFICATE

I, the undersigned, Assistant Secretary of BERKLEY INSURANCE COMPANY, DO HEREBY CERTIFY that the foregoing is a true, correct and complete copy of the original Power of Attorney; that said Power of Attorney has not been revoked or rescinded and that the authority of the Attorney-in-Fact set forth therein, who executed the bond or undertaking to which this Power of Attorney is attached, is in full force and effect as of this date.

Given under my hand and seal of the Company, this day of

(Seal)

VENDOR CERTIFICATION REGARDING SCRUTINIZED COMPANIES

Respondent Vendor Name: Goodwin Bros Construction, Inc					
Vendor/Contractor FEIN: <u>59-2827531</u>					
Vendor/Contractor's Authorized Representative Name and Title: Daniel Goodwin Jr, President					
Address: PO Box 1689					
City: Brooksville State: Florida Zip: 34601					
Phone Number: 352-796-0149					
Email Address: estimator.goodwinbros@hughes.net					
Section 287.135 (Current Edition), Florida Statutes, prohibits agencies from Contracting with companies for goods or services of \$1,000,000.00 or more, that are on either the Scrutinized Companies with Activities in Sudan list, the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector lists which are created pursuant to s. 215.473 F.S. (Current Edition), or the Scrutinized Companies that Boycott Israel list, created pursuant to s. 215.4725 F.S. (Current Edition), or companies that are engaged in a boycott of Israel or companies engaged in business operations in Cuba or Syria. As the person authorized to sign on behalf of Respondent, I hereby certify that the company identified above in the section entitled "Respondent Vendor Name" is not listed on either the Scrutinized Companies with Activities in Sudan list or the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector list, or the Scrutinized Companies that Boycott Israel list. I further certify that the company is not engaged in a boycott of Israel. I understand that pursuant to section 287.135 (Current Edition), Florida Statutes, the submission of a false certification may subject company to civil penalties, attorney's fees, and/or costs and does not have business operations in Cuba or Syria.					
Certified by:					
who is authorized to sign on behalf of the above-reference company.					
Print Name and Title: Daniel Goodwin Jr, President					

This document should be completed and returned with your Submittal.

5/29/2019

Date:

ADDENDUM ACKNOWLEDGEMENT

The undersigned acknowledges receipt of the following addenda to the Bid/Request for Proposals (indicate number and date of each):

Addendum No1	Dated5/10/2019
Addendum No.	Dated <u>5-28-19</u>
Addendum No	Dated <u>5-29-19</u>
Addendum No.	Dated <u>S-31-19</u>
	EDGEMENT OF ANY ADDENDUM THAT AFFECTS THE PRICING A MAJOR IRREGULARITY AND MAY BE CAUSE FOR REJECTION
Goodwin Bros Construction, Inc Company Name	Authorized Signature
	VENDOR SURVEY
Please provide information on whe Proposals (mark all that apply):	nere you received the knowledge of the Bid/Request for
⊠ BIDNET DIRECT	
☐ NEWSPAPER	
☐ PURCHASING AND CONTR	ACTS ADVERTISEMENT BOARD
REFERRED BY:	
OTHER (PLEASE SPECIFY)	:

ADDENDUM NO. ONE (1)

TO
THE CONTRACT DOCUMENTS
FOR THE CONSTRUCTION OF

FRONTAGE ROAD ADDITION AT SR 50 AND I-75

IN
HERNANDO COUNTY, FLORIDA
SOLICITATION NO. 19-C00102/BK
BID DATE: MAY 29, 2019

NOTICE
BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the FRONTAGE ROAD ADDITION AT SR 50 AND I-75, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. SECTION VII - BID FORM

 A Revised Bid Form is attached to this addendum. The Revised Bid Form attached shall be submitted with your bid response. Failure to submit the Revised Bid Form shall render your response as non-responsive.

B. CLARIFICATIONS

- 1. The CAD files will be available to the awarded Vendor/Contractor.
- See Attachment "A" located herein for the Sketch and Legal Description for the Fill Deposit Area which can be used
 for temporary or permanent storage of soil. This area has been cleared of trees by the property owner. A SWFWMD
 Permit has been obtained by the County and will be provided to the awarded Vendor/Contractor for compliance with
 permitting conditions.

Acknowledged

Issued: May 10, 2019

BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY

almas V

James S. Wunderle

Purchasing and Contracts Manager

Chief Procurement Officer

ADDENDUM NO. TWO(2)

TO
THE CONTRACT DOCUMENTS
FOR THE

FRONTAGE ROAD ADDITION AT SR 50 AND 1-75

IN
HERNANDO COUNTY, FLORIDA
SOLICITATION NO. 19-C00102/BK

BID DATE: MAY 29, 2019 JUNE 12, 2019

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the FRONTAGE ROAD ADDITION AT SR 50 AND I-75, located in Hernando County, as fully and completely as if the same were fully set forth therein:

CLARIFICATIONS.

1. Question: Earthworks calculation quantities showing on our earthwork results differ from the given bid quantities provided in the bid form. Per the prebid, it was said that this would have an excess amount of dirt. Our calculations show a substantial import quantity needed.

Answer: Hernando County will review the calculations for the project and respond by Addendum. The Bid Due date has been extended to June 12, 2019.

Acknowledged

BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY

James S. Wunderle

Purch sing and Con tests Manager

Chief Procurement Officer, Hernando County

Issued: May 28, 2019

ADDENDUM NO. THREE (3)

TO
THE CONTRACT DOCUMENTS
FOR THE

FRONTAGE ROAD ADDITION AT SR 50 AND 1-75

IN HERNANDO COUNTY, FLORIDA SOLICITATION NO. 19-C00102/BK

BID DATE: MAY 29, 2019 JUNE 12, 2019

NOTICE

BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF THIS ADDENDUM IN THE SPACES PROVIDED AND RETURNED AT THE TIME OF THE BID DATE

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the **FRONTAGE ROAD ADDITION AT SR 50 AND I-75**, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. SECTION VII - BID FORM

Inquiries regarding this Invitation for Bid may be directed to Bobbie Kassay, CPPB-Diane Kafrissen, Purchasing Agent II, Purchasing Agent, at telephone number 352-754-4020 or email purchasing@hernandocountv.us.

Acknowledged

BOARD OF COUNTY COMMISSIONERS HERNANDO COUNTY

James S. Wunderle

Purchasing and Contracts Manager

Chief Procurement Officer, Hernando County

Issued: May 29, 2019

ADDENDUM NO. FOUR (4)

TO
THE CONTRACT DOCUMENTS
FOR THE CONSTRUCTION OF

FRONTAGE ROAD ADDITION AT SR 50 AND 1-75

IN
HERNANDO COUNTY, FLORIDA
SOLICITATION NO. 19-C00102/BK
BID DATE: MAY 29, 2019-JUNE 12, 2019

NOTICE
BIDDERS ARE REQUIRED TO ACKNOWLEDGE RECEIPT OF
THIS ADDENDUM BY SIGNATURE AT THE BOTTOM OF
THIS ADDENDUM IN THE SPACES PROVIDED AND
RETURNED AT THE TIME OF THE BID DATE.

TO ALL PLAN HOLDERS:

The following changes, additions and/or deletions are hereby made a part of the Contract Documents for the FRONTAGE ROAD ADDITION AT SR 50 AND I-75, located in Hernando County, as fully and completely as if the same were fully set forth therein:

A. SECTION VII - BID FORM

 A Revised Bid Form is attached to this addendum. The Revised Bid Form attached shall be submitted with your bid response. Failure to submit the Revised Bid Form shall render your response as non-responsive.

Acknowledged

Issued: May 31, 2019

BOARD OF COUNTY COMMISSIONERS
HERNANDO COUNTY

James S. Wundere

Purchasing and Contracts Manager

Chief Procurement Officer